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Section A | Very Short Answer Type Questions

1. Find the complex conjugate of (2 + 53)( — 4 + 67).

° Watch Video Solution

2.If & + iy = ciso. cisf, then find the valeu of 2 + y2.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aOucx2GpIx8H
https://dl.doubtnut.com/l/_i2qtxhobBJhS

3. If ABC are angles of a triangle such that

x = cisA,y = cisB, z = cisC, then find the value of xyz .

° Watch Video Solution

4. For what values of z the expression 2z? — 10z — 28 is

positive?

° Watch Video Solution

5.1f 1,1, a are the roots of 23 — 622 + 9z — 4 = 0 then find

7 7

a .

o Watch Video Solution



https://dl.doubtnut.com/l/_i2qtxhobBJhS
https://dl.doubtnut.com/l/_r39eAmyPKKHi
https://dl.doubtnut.com/l/_KPz9MKCCDkDC
https://dl.doubtnut.com/l/_tGBtay5CcWIJ
https://dl.doubtnut.com/l/_WCV4GX2y98Qp

6. Find the number of ways of arranging the letter of the word

"MATHEMATICS".

° Watch Video Solution

7.Find the value of 1°C; + 2. 1°C, + 19¢Cs.

° Watch Video Solution

5z 3/°
8. Find the 8th term of (1 — 7) .

o Watch Video Solution

9. Find the mean deviation about the mean for the following

data: 3, 6, 10, 4, 9, 10.
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https://dl.doubtnut.com/l/_WCV4GX2y98Qp
https://dl.doubtnut.com/l/_uQxo5MzE35F7
https://dl.doubtnut.com/l/_72Hj6eZMNnBx
https://dl.doubtnut.com/l/_1z64jcBs8AHk
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10. The mean and variance of a Binomial variate are 2.4 and 144

respectively. Find the parameters, P(X = 2) and P(1 < X < 4)

o Watch Video Solution

Section B li Short Answer Type Questions

1/3

—
0

If (z —iy)'° = a — ib, then show that

r ¥y _ 2 72
a—l—b—4(a b).

o Watch Video Solution



https://dl.doubtnut.com/l/_1z64jcBs8AHk
https://dl.doubtnut.com/l/_ZuZ7g9CcRAOm
https://dl.doubtnut.com/l/_0ijIvvW0W4GO

2. Find the maximum value of the function

x2 4+ 142 + 9

over R.
x2 4+ 2x + 3

° Watch Video Solution

3. Find the sum of all 4- digited numbers that can be formed

using the digits 1,3,5,7,9.

o Watch Video Solution

4. Prove that

2504 + 50(29—7') 03 — 30014

o Watch Video Solution



https://dl.doubtnut.com/l/_5gPkcvHJ7qhW
https://dl.doubtnut.com/l/_NMdZjStnAecg
https://dl.doubtnut.com/l/_cdtO0TM9Mv4J

22+ 5z +7 ) )
5.Resolve into partial fractions.

(z - 3)°

° Watch Video Solution

6. A and B are events with
P(A) =0.5,P(B) =04 and P(ANB) =0.3. Find the
probability that :
A does not occur

o Watch Video Solution
7. A and B are events with
P(A) =0.5,P(B) = 0.4 and P(AN B) =0.3. Find the

probability that :

Neither A not B occurs.
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https://dl.doubtnut.com/l/_Gc78VcmgppD0
https://dl.doubtnut.com/l/_n5E9NoVXzwde
https://dl.doubtnut.com/l/_cgvRaVG9pgV7

| & Watch Video Solution

8. A problem in calculus is given to two students, A and B whose
chances of solving it are 1/3, 1/4 respectively. Find the probability

of the problem being solved if both of them try'independently.

o Watch Video Solution

Section C lii Long Answer Type Questions

1.If n is a positive integer, show that

(P+iQ)V" + (P —iQ)'/" = 2(P? + @)™ cos(%, tan. %)

o Watch Video Solution



https://dl.doubtnut.com/l/_cgvRaVG9pgV7
https://dl.doubtnut.com/l/_5GaBvFVHzzbd
https://dl.doubtnut.com/l/_gT33kt475zL6
https://dl.doubtnut.com/l/_kZo3lPa83D0f

2. The equation whose roots are reciprocals of the roots of

62’ — 252° + 312% — 3122 +25x-6=0"is

o Watch Video Solution

3.Prove that: Forn=0,1, 2, 3, ......... , N, prove that
CO- Cr+Cl- Cr-|—]_ +02- Crr_|_2+.... +Cn_r. Cn
= 2”C(n+,,) and hence deduce that

Prove that: C2 + C2 + C2 +.... + C; = *"C,

° Watch Video Solution

4.Prove that:Forn=0,1,2,3, ... , N, prove that
Co.Cr+C1.Cri1+Co.Cria+ ... +Ch_r. Cy
= 2”C(n+r) and hence deduce that

Co.C1+C1.Co+C2.C5+4..ccv. +Crn1.Cp =2"Cpi1



https://dl.doubtnut.com/l/_kZo3lPa83D0f
https://dl.doubtnut.com/l/_GLhOJYJdyv9A
https://dl.doubtnut.com/l/_d5vuhuKop9kF

| & Watch Video Solution

5.Find the sum of the infinite series

71+1+1.3 1+1.3.5 1+
5 102 127 100 1237 108 7

o Watch Video Solution

6. Find the mean deviation from the mean of the following data:

Marks 0-10/ 10-20| 20-30[30-40|40-50|50-60|60-70
No.ofStudents| 6 | 5 |-8 |15 7 | 6 «_3

Using step deviation method.

° Watch Video Solution

7. State and prove addition theorem on probability.

o Watch Video Solution



https://dl.doubtnut.com/l/_d5vuhuKop9kF
https://dl.doubtnut.com/l/_A3MK7gCJi7M3
https://dl.doubtnut.com/l/_yirN8xJpwOgp
https://dl.doubtnut.com/l/_0rwVY5VB4Lgv

8. Find the probability of drawing and ace or a spade from a well

suffled pack of 52 cards ?

o Watch Video Solution

9. If X is a random varibale with probability distribution

k+1)C
P(X =k) = %, K =0,1,2,..then find C.

o Watch Video Solution



https://dl.doubtnut.com/l/_0rwVY5VB4Lgv
https://dl.doubtnut.com/l/_CWk5Wfk6Zas7
https://dl.doubtnut.com/l/_ELawnKFOZekx

